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Aiswmu /B4 HE 1 # 2 3 i 4
AT RFRE 4,691 6,436 8,239 10,100

A | FLERR™AD 4,691 4,691 4,691 4,691
| F2ERTY(A2) 1,746 1,746 1,746
Wl %3ER% (A3 1,803 1,803
$4ERF T (AY) 1,861

A sl B ﬂf-?‘ ML F 100,000%3% A £ F RAPM Y P (TREERTAEEAERT Y F 1.66%)

LA & AT AR E% e 455062 & FappI R £ b p%é$”ﬂzﬁ’~#pr’s§ﬁ" * (1.66%)2 & fgs]

Al : 100,000%3% + (97,000%1.05)*1.66% =3,000+1,691=4,691

A2 ((97,000%1.05)-1,691)*1.05%1.66% =100,159*1.05%1.66%=1,746

A3 1 ((100,159%1.05)-1,746)*1.05%1.66% = 103,421*1.05%1.66%=1,803

A4 ((103,421%1.05)-1,803)*1.05%1.66% =106,790*1.05*1.66%=1,861
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F1 : (100,000%1.05)*2.65% +100,000*3%(CDSC) =2,783+3,000=5,783

F2 : ((100,000%1.05)-2,783)*1.05%2.65%+100,000%2%(CDSC)=102,218*1.05%2.65%+100,000%2%=2,844+2,000
= 4,844

F3 : ((102,218*1.05)-2,844)*1.05%2.65%+100,000%1%(CDSC)=104,484*1.05%2.65% +100,000* 1% =2,907+1,000
=3,907

F4 : ((104,484*1.05)-2,907)*1.05*1.66%=(106,801%1.05)*1.66%=1,862
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